

THE H-CONVOLUTION TRANSFORM

V. E. HOGGATT, JR.

San Jose State University, San Jose, California 95192

and

PAUL S. BRUCKMAN

University of Illinois, Chicago Circle, Illinois 60680

1. INTRODUCTION

We form the complete convolution array for a sequence whose generating function is

$$(1.1) \quad f(x) = \sum_{i=0}^{\infty} f_i x^i = \sum_{i=0}^{\infty} a_{i,0} x^i$$

with $f(0) = f_0 = a_{0,0} \neq 0$, and let

$$(1.2) \quad [f(x)]^{j+1} = \sum_{i=0}^{\infty} a_{ij} x^i, \quad j = 0, \pm 1, \pm 2, \pm 3, \dots;$$

note that

$$a_{i,-1} = \delta_{i,0} = \begin{cases} 1, & i=0 \\ 0, & i \neq 0 \end{cases}.$$

This convolution array is the source of an infinite number of sequences which are intimately related to the coefficients of $f(x)$

Form a new sequence whose generating function $S_1(x)$ is given by

$$(1.3) \quad Hf(x) = S_1(x)$$

and

$$(1.4) \quad S_1(x) = \sum_{i=0}^{\infty} \frac{a_{ii}}{i+1} x^i = \sum_{i=0}^{\infty} a_i x^i.$$

We call the sequence $\{s_i\}_{i=0}^{\infty}$ the H-convolution transform of the sequence $\{f_i\}_{i=0}^{\infty}$, but it is easier to express this relationship between the generating functions. That is, $H\{f_i\}_{i=0}^{\infty} = \{s_i\}_{i=0}^{\infty}$ is expressed $Hf(x) = S_1(x)$.

In the next section we shall prove that, if $Hf(x) = S_1(x)$, then $f(xS_1(x)) = S_1(x)$ with $f(0) = S_1(0) \neq 0$. It is well known that

$$(1.5) \quad C_n = \frac{1}{n+1} \binom{2n}{n}$$

defines the Catalan numbers, whose generating function is $C(x) = [1 - \sqrt{1 - 4x}]/2x$. Let $f(x) = 1/(1-x)$. The Catalan generating function satisfies $1 + xC^2(x) = C(x)$. This implies that $1/[1 - xC(x)] = C(x)$. That is, if

$$f(x) = 1/(1-x),$$

then

$$f(xC(x)) = 1/[1 - xC(x)] = C(x),$$

so that from Pascal's triangle generator we get the Catalan number generator; $H(1/(1-x)) = C(x)$, $C(0) = 1$.

2. LAGRANGE'S THEOREM

Lagrange's Theorem: (As in Polya and Szegő [1])

Let $f(z)$ and $\varphi(z)$ be regular about $z = 0$ and $f(0) \neq 0$, $\varphi(0) \neq 0$, and $z = \omega\varphi(z)$. Then

$$\frac{f(z)}{1 - \omega\varphi'(z)} = \sum_{n=0}^{\infty} \frac{\omega^n}{n!} \left. \frac{d^n (f(x)\varphi^n(x))}{dx^n} \right|_{x=0}$$

Since

$$\varphi(0) \neq 0, \quad \text{and} \quad \omega = z/\varphi(z) = g(z),$$

if $f(z) = 1$, then we are dealing only with reversal of power series [2].

We now use Lagrange's theorem to prove our major result.

Theorem 1. Let $f(x)$ be analytic about $x = 0$, with $f(0) \neq 0$, and

$$[f(x)]^{i+1} = \sum_{j=0}^{\infty} a_{ij} x^j,$$

and let

$$S_1(x) = \sum_{j=0}^{\infty} \frac{a_{jj}}{j+1} x^j;$$

then $f(xS_1(x)) = S_1(x)$, and $S_1(0) = f(0) \neq 0$.

Proof of Theorem 1. Let

$$xS_1(x) = \sum_{j=0}^{\infty} \frac{a_{jj}}{j+1} x^{j+1};$$

then

$$\frac{d}{dx} (xS_1(x)) = \sum_{j=0}^{\infty} a_{jj} x^j = \sum_{j=0}^{\infty} \frac{x^j}{j!} \left. \frac{d^j (f^{j+1}(x))}{dx^j} \right|_{x=0}$$

which can be visualized for Lagrange's theorem as

$$\frac{d}{dx} (xS_1(x)) = \sum_{j=0}^{\infty} \frac{x^j}{j!} \left. \frac{d^j (f(x)f^j(x))}{dx^j} \right|_{x=0}$$

or

$$\frac{d}{dx} (xS_1(x)) = \frac{f(z)}{1 - xf'(z)},$$

with $\omega = x$ and $\varphi(z) = f(z)$. From $z = xf(z)$, $x \neq 0$,

$$(2.1) \quad \frac{df}{dz} = f'(z) = \frac{x - z}{x^2} \frac{dx}{dz},$$

and so

$$(2.2) \quad 1 - xf'(z) = 1 - \frac{x - z}{x} \frac{dx}{dz} = \frac{z}{x} \frac{dx}{dz}.$$

Thus,

$$\frac{d}{dx} (xS_1(x)) = \frac{dz}{dx},$$

which implies that $xS_1(x) = z + c$; but $xS_1(x) \rightarrow 0$ and $z \rightarrow 0$ as $x \rightarrow 0$. Thus, $c = 0$ and $xS_1(x) = z$. Thus,

$$xS_1(x) = xf(xS_1(x))$$

or

$$S_1(x) = f(xS_1(x)) = f(z).$$

From $z = xf(z)$ to $z = xS_1(x)$ is a reversal of power series, and a necessary and sufficient condition for $S_1(x)$ to be regular about $x = 0$ is that $x = z/[f(z)] = g(z)$ be such that $g'(0) \neq 0$. Clearly, this is guaranteed by $f(0) \neq 0$, since

$$g'(z) = [f(z) - zf'(z)]/f^2(z) \quad \text{and} \quad g'(0) = 1/f(0) \neq 0.$$

See Copson [2].

We thus see that if $f(x)$ is regular about $x = 0$ and $f(0) \neq 0$, then $Hf(x) = S_1(x)$ is a function such that $f(0) = S_1(0) \neq 0$ and $f(xS_1(x)) = S_1(x)$, and $S_1(x)$ is regular about $x = 0$.

Corollary. $\varphi(z) = S(x)$, where $\varphi(xS(x)) = S(x)$.

We now proceed to another important

Theorem 2. Let $f(x)$ be regular about $x = 0$ and $f(0) \neq 0$, and

$$[f(x)]^{j+1} = \sum_{i=0}^{\infty} a_{ij}x^i, \quad j = 0, 1, 2, \dots,$$

and

$$G_j(x) = \sum_{i=0}^{\infty} \frac{j}{i+j} a_{i,i+j-1}x^i.$$

Then $G_j(x) = S_1^j(x)$ for $j = 1, 2, 3, \dots$.

Proof of Theorem 2.

$$x^j G_j(x) = \sum_{i=0}^{\infty} \frac{jx^{i+j}}{(i+j)!} \left. \frac{d^i(f^j(x)f^i(x))}{dx^i} \right|_{x=0},$$

or

$$\begin{aligned} \frac{d}{dx} (x^j G_j(x)) &= jx^{j-1} \sum_{i=0}^{\infty} \frac{x^i}{i!} \left. \frac{d^i(f^j(x)f^i(x))}{dx^i} \right|_{x=0} \\ &= \frac{jx^{j-1} f^j(z)}{1 - xf'(z)} = jx^{j-1} f^{j-1}(z) \frac{dz}{dx}, \end{aligned}$$

with $\omega = x$ and $f(z)$ replaced by $f^j(z)$; the last step follows from (2.2), the result in the proof of Theorem 1. Thus,

$$\frac{d}{dx} (x^j G_j(x)) = jz^{j-1} \frac{dz}{dx},$$

which implies that $x^j G_j(x) = z^j + c$. Since $x^j G_j(x)$ and $z^j \rightarrow 0$ as $x \rightarrow 0$, then $c = 0$, so that

$$G_j(x) = z^j/x^j = f^j(z) = S_1^j(x),$$

since the same hypotheses of Theorem 1 are used in Theorem 2, and there $f(z) = S_1(x)$. Thus,

$$\begin{aligned} S_1^j(x) &= \sum_{i=0}^{\infty} \frac{j}{i+j} \frac{x^i}{i!} \left. \frac{d^i(f^j(x)f^i(x))}{dx^i} \right|_{x=0} \\ &= \sum_{i=0}^{\infty} \frac{j}{i+j} a_{i,i+j-1}x^i, \quad j = 1, 2, 3, \dots \end{aligned}$$

The next theorem is harder to prove.

Theorem 3. Let $f(x)$ be regular about $x = 0$, $f(0) \neq 0$, and

$$[f(x)]^{j+1} = \sum_{i=0}^{\infty} a_{ij} x^i, \quad j = 0, 1, 2, \dots$$

Let

$$G_{-j}(x) = \sum_{i=0}^{\infty} \frac{-j}{i-j} \frac{x^i}{i!} \frac{d^i (f^{-j}(x) f^i(x))}{dx^i} \Big|_{x=0},$$

where the prime indicates $i \neq j$. Then

$$G_{-j}(x) + \frac{x^j}{j!} \frac{d^j}{dx^j} (S_1^{-j}(x)) \Big|_{x=0} = S_1^{-j}(x).$$

Proof of Theorem 3. Clearly the missing term is indeterminate since

$$\frac{d^j}{dx^j} (f^0(x)) \Big|_{x=0} = \begin{cases} 0, & \text{if } j \neq 0; \\ 1, & \text{if } j = 0; \end{cases}$$

in either case, the missing term is 0/0. Now

$$x^{-j} G_{-j}(x) = \sum_{i=0}^{\infty} \frac{-j}{i-j} \frac{x^{i-j}}{i!} \frac{d^i (f^{-j}(x) f^i(x))}{dx^i} \Big|_{x=0}$$

so that

$$\frac{d}{dx} (x^{-j} G_{-j}(x)) = -j x^{-j-1} \sum_{i=0}^{\infty} \frac{x^i}{i!} \frac{d^i (f^{-j}(x) f^i(x))}{dx^i} \Big|_{x=0}.$$

Thus, by Lagrange's theorem, with $\omega = x$, $\varphi(z) = f(z)$, and $f(z)$ replaced by $(f(z))^{-j}$, and by the result (2.2) in the proof of Theorem 1,

$$\frac{d}{dx} (x^{-j} G_{-j}(x)) = -j x^{-j-1} f^{-j-1}(z) \frac{dz}{dx} = -j z^{-j-1} \frac{dz}{dx},$$

since $z = xf(z)$, so that

$$x^{-j} G_{-j}(x) = z^{-j} + c,$$

and

$$G_{-j}(x) = f^{-j}(z) + c x^j = S_1^{-j}(x) + c x^j.$$

Recall that $G_{-j}(x)$ has a zero coefficient for x^j . Thus, we can get equality if and only if

$$c = - \frac{1}{j!} \frac{d^j}{dx^j} (S_1^{-j}(x)) \Big|_{x=0},$$

which concludes the proof of Theorem 3.

3. APPLICATIONS OF THESE THEOREMS

The three theorems we have proved now give us an explicit set of instructions on how to convert the entire convolution array generated by the powers of $f(x)$ into the entire convolution array for $S_1(x)$.

The central falling diagonal is converted into $S_1(x)$, and the diagonals parallel to this are explicitly converted into $S_1^j(x)$ for all integral j , where $f(0) = S_1(0)$ and $f(x S_1(x)) = S_1(x)$. We have in reality explicitly derived series expansions for all $S_1^j(x)$ in terms of the entries of the convolution array for $f(x)$. This is

$$(3.1) \quad S_j^i(x) = \sum_{i=0}^{\infty} \frac{j}{i+j} a_{i,i+j-1} x^i,$$

where

$$a_{i,i+j-1} = \frac{1}{i!} \left. \frac{d^i(f^j(x)f^i(x))}{dx^i} \right|_{x=0},$$

for all integral j , with special attention given when $i+j=0$, as earlier discussed. This, of course, can now be repeated any number of times.

A particularly pleasing special case of sequences of convolution arrays arises upon taking $f(x) = 1/(1-x)$, giving rise to the generating functions for the columns of Pascal's triangle. This paper proves and generalizes the results found when considering Catalan and related sequences which arose from inverses of matrices containing certain columns of Pascal's triangle [3], [4], [5], [6].

4. FURTHER GENERALIZATIONS

We can, of course, apply the convolution transform H to $f(x)$ several times. $Hf(x) = S_1(x)$ means $f(xS_1(x)) = S_1(x)$, and $H^2f(x) = S_2(x)$ means that $HS_1(x) = S_2(x)$, where $S_1(xS_2(x)) = S_2(x)$. Further, we can show $f(xS_2^2(x)) = S_2(x)$ as follows:

$$f(xS_1(x)) = S_1(x);$$

replace x by $xS_2(x)$ to obtain

$$f(xS_2(x)S_1(xS_2(x))) = f(xS_2^2(x)) = S_1(xS_2(x)) = S_2(x).$$

In general, one can show that, if

$$S_k(xS_{k+1}(x)) = S_{k+1}(x),$$

then

$$(4.1) \quad H^k f(x) = S_k(x) \quad \text{and} \quad f(xS_k^k(x)) = S_k(x).$$

Thus, one can secure an infinite sequence of generating functions from one generating function, $f(x)$.

We can now discuss the inverse convolution transform, H^{-1} . From $f(xS_1(x)) = S_1(x)$, we look at $S_1(x/f(x))$, replace x by $xS_1(x)$, so that

$$S_1(xS_1(x)/f(xS_1(x))) = S_1(x) = f(xS_1(x));$$

thus

$$S_1(x/f(x)) = f(x).$$

$H^{-1}S_1(x) = f(x)$ means $S_1(x/f(x)) = f(x)$. If we designate $f(x) = S_0(x)$, then

$$H^1 S_0(x) = S_1(x),$$

and, in general,

$$(4.2) \quad H^k S_0(x) = S_k(x) \quad \text{and} \quad H^{-k} S_0(x) = S_{-k}(x),$$

generating a doubly infinite sequence of generating functions from the convolution array for $f(x) = S_0(x)$.

We now derive the explicit formulas for these.

Theorem 4.

$$S_k^j(x) = \sum_{i=0}^{\infty} \frac{j}{ki+j} a_{i,ki+j-1} x^i, \quad k = 0, 1, 2, \dots.$$

Proof of Theorem 4.

We consider the elements a_{ij} of the convolution array for $f(x)$ such that $f(0) \neq 0$ and

$$[f(x)]^{j+1} = \sum_{i=0}^{\infty} a_{ij} x^i,$$

j an integer. We proceed first for j positive.

For $S_1(x)$, the elements processed are a_{ij} ; for $S_2(x)$, the elements processed are $a_{i,2i}$; and for $S_k(x)$, the elements processed are $a_{i,ki}$. This is, of course, done sequentially. Consider the element $a_{i,ki+j-1}$. We now find the sequential factors to convert it into the coefficient of x^i in $S_k^j(x)$.

First, we consider the diagonals parallel to the principal falling diagonal a_{ij} ; the diagonal $S_1^{(k-1)i+j}(x)$ contains $a_{i,ki+j-1}$ and was multiplied by

$$\frac{(k-1)i+j}{ki+j}.$$

In the diagonals parallel to the $a_{i,2i}$, the diagonal $S_2^{(k-2)i+j}(x)$ contains $a_{i,ki+j-1}$ and was multiplied by an additional factor of

$$\frac{(k-2)i+j}{(k-1)i+j},$$

and so on. In the diagonals parallel to $a_{i,ki}$, $S_k^j(x)$ picked up a factor of $j/(i+j)$. Thus, for the terms of $S_k^j(x)$

$$\begin{aligned} S_k^j(x) &= \sum_{i=0}^{\infty} \frac{j}{i+j} \cdot \frac{j+i}{2i+j} \cdots \frac{(k-1)i+j}{ki+j} a_{i,ki+j-1} x^i \\ &= \sum_{i=0}^{\infty} \frac{j}{ki+j} a_{i,ki+j-1} x^i. \end{aligned}$$

This can also be established by induction. Look at $a_{i,(k+1)i+j-1}$. Each factor we used before has its right subscript of a_{ij} advanced by i so that

$$S_{k+1}^j(x) = \sum_{i=0}^{\infty} \frac{j}{(k+1)i+j} a_{i,(k+1)i+j-1} x^i.$$

This holds for $j = 1, 2, 3, \dots$, and concludes the proof of Theorem 4, for j positive. For $j = 0$, $S_k^j(x) = 1$. For $j \leq 0$, there are special problems to surmount.

Theorem 5. If $F^{-1}(xS^k(x)) = S(x)$, with $S(0) = F^{-1}(0) \neq 0$, then $S(x) = S_{-k}^{-1}(x)$.

Proof. The function $F^{-1}(x)$ induces a two-sided sequence of generating functions. From $F^{-1}(xS^k(x)) = S(x)$, we imply

$$\begin{aligned} S(x)/(F^{-1}(x))^k &= F^{-1}(x) \\ S(xF^k(x)) &= F^{-1}(x) \\ S^{-1}(xF^k(x)) &= f(x). \end{aligned}$$

But $S_{-k}(xF^k(x)) = f(x)$, so that $S(x) = S_{-k}^{-1}(x)$.

Theorem 6. For $j > 0, k > 0$,

$$S_{-k}^{-j}(x) = \sum_{i=0}^{\infty} \frac{j}{ki+j} \frac{x^i}{i!} \frac{d^i (F^{-1}(x))^j (F^{-k}(x))^i}{dx^i} \Bigg|_{x=0}.$$

Proof. Apply Theorem 4 to the function $F(x) = F^{-1}(x)$. Thus for $j > 0$ and $k > 0$

$$S_{-k}^{-j}(x) = \sum_{i=0}^{\infty} \frac{-j}{-ki-j} \frac{x^i}{i!} \frac{d^i (F^{-1}(x))^j (F^{-k}(x))^i}{dx^i} \Bigg|_{x=0}$$

This is equivalent to the theorem.

SUMMARY:

$$(4.3) \quad S_k^j(x) = \sum_{i=0}^{\infty} \frac{j}{ki+j} \frac{x^i}{i!} \frac{d^i(f^j(x)f^{ki}(x))}{dx^i} \Big|_{x=0}$$

now holds for $j \geq 1, k \geq 1$, or $j \leq -1, k \leq -1$. The case $j = 0, k \neq 0$ is routine and $k = 0$ for any j is routine.

We note that in the proof sequence of Theorem 4, there are no zero factors except when $j = 0$.

Theorem 7 (The Completion of Theorem 4).

If $f(z)$ is regular about $z = 0$ and $f(0) \neq 0$, then, for $k \neq 0$,

$$(i) \quad S_k^j(x) = \sum_{i=0}^{\infty} \frac{j}{ki+j} \frac{x^i}{i!} \frac{d^i(f^j(x)f^{ki}(x))}{dx^i} \Big|_{x=0}$$

when $-j/k \neq m$, a positive integer.

The prime below indicates $i \neq m$,

$$(ii) \quad S_k^j(x) = \sum_{i=0}^{\infty} \frac{j}{ki+j} \frac{x^i}{i!} \frac{d^i(f^j(x)f^{ki}(x))}{dx^i} \Big|_{x=0} \\ + \frac{x^m}{m!} \frac{d^m(f^j(x)f^{ki}(x))}{dx^m} \Big|_{x=0}$$

when $-j/k = m$, a positive integer.

Proof of Theorem 7. Let

$$g_j(x) = \sum_{i=0}^{\infty} \frac{j}{ki+j} \frac{x^i}{i!} \frac{d^i(f^j(x)f^{ki}(x))}{dx^i} \Big|_{x=0}$$

for $j \neq 0$, and $g_0(x) = 1$.

Case (i).

$$x^{j/k} g_j(x) = \sum_{i=0}^{\infty} \frac{j/k}{i+j/k} \frac{x^{i+j/k}}{i!} \frac{d^i(f^j(x)f^{ki}(x))}{dx^i} \Big|_{x=0}$$

Taking the derivative,

$$(4.4) \quad \frac{d}{dx} (x^{j/k} g_j(x)) = \left(\frac{j}{k} x^{j/k-1} \right) \sum_{i=0}^{\infty} \frac{x^i}{i!} \frac{d^i(f^j(x)f^{ki}(x))}{dx^i} \Big|_{x=0} \\ = \frac{j}{k} x^{j/k-1} f_j(z) \frac{x}{z} \frac{dz}{dx}$$

But

$$z = x\varphi(z) = xf^k(z).$$

From the corollary to Theorem 1, $f^k(z) = S(x)$, where $f^k(xS(x)) = S(x)$. To identify $S(x)$, recall that

$$f(xG^k(x)) = G(x)$$

implies that

$$G(x) = S_k(x)$$

as defined for $f(x)$; hence,

$$S(x) = G^k(x) = S_k^k(x)$$

so that $f(z) = S_k(x)$.

Returning now to (4.4),

$$\frac{d}{dx} (x^{j/k} g_j(x)) = \frac{j}{k} x^{j/k-1} f^{j-k}(z) \frac{dz}{dx} . .$$

From $z/x = f^k(z)$, then $(z/k)^{1/k} = f(z)$, so that

$$f^{j-k}(z) = (z/x)^{(j-k)/k} \quad \text{and} \quad x^{j/k-1} f^{j-k}(z) = z^{j/k-1} .$$

Therefore,

$$\frac{d}{dx} (x^{j/k} g_j(x)) = \frac{j}{k} z^{j/k-1} \frac{dz}{dx} ,$$

so that

$$x^{j/k} g_j(x) = z^{j/k} + C$$

$$g_j(x) = \frac{z^{j/k}}{x^{j/k}} + Cx^{-j/k} .$$

Thus,

$$g_j(x) = f^j(z) + Cx^{-j/k} = S_k^j(x) + Cx^{-j/k} .$$

From the definition of

$$g_j(x) = \sum_{i=0}^{\infty} \frac{j}{ik+j} \frac{x^i}{i!} \left. \frac{d^i (f^j(x) f^{ki}(x))}{dx^i} \right|_{x=0} ,$$

where $-j/k \neq m$, a positive integer, we see that $g_j(x)$ has a Maclaurin power series. Further, $S_k(x)$ is regular about $x=0$, $S_k(0) \neq 0$, and hence $S_k^j(x)$ is regular about $x=0$ and $S_k^j(0) \neq 0$; thus $S_k^j(x)$ also has a power series expansion. Their difference is a power series so that if $-j/k \neq m$, a positive integer, then $C=0$, and the proof of part (i) is complete. Since $S_k^0(x) = 1$, then Theorem 7, part (i), is valid for all integral j and $S_0(x) = f(x)$ does not need such a form.

Case (ii). If $-j/k = m$, a positive integer, then

$$g_j(x) = \sum_{i=0}^{\infty} \frac{j}{ki+j} \frac{x^i}{i!} \left. \frac{d^i (f^j(x) f^{ki}(x))}{dx^i} \right|_{x=0}$$

when written as above has an indeterminate term; thus, as in the form in part (ii), it should be primed. Thus, $g_j(x)$ has no term when $ki+j=0$, so it is necessary and sufficient that in

$$g_j(x) = S_k^j(x) + Cx^{-j/k} ,$$

$$C = -\frac{1}{m!} \left. \frac{d^m}{dx^m} (S_k^{-mk}(x)) \right|_{x=0} .$$

This completes the proof of part (ii).

Theorem 8. When $-j/k \neq m$, m a positive integer,

$$S_k^j(x) = \sum_{i=0}^{\infty} \frac{j}{ki+j} a_{i,ki+j-1} x^i .$$

When $-j/k = m$, m a positive integer,

$$S_k^j(x) = \sum_{i=0}^{\infty} \frac{j}{ki+j} a_{i,ki+j-1} x^i + \frac{x^m}{m!} \frac{d^m}{dx^m} (S_k^{-mk}(x)) \Big|_{x=0}.$$

Theorem 8 is simply a collection of results in terms of

$$f^{j+1}(x) = \sum_{i=0}^{\infty} a_{ij} x^i.$$

Theorem 9. Let

$$f(xS_k^k(x)) = S_k(x);$$

then

$$\sum_{m=0}^{\infty} \frac{x^m}{m!} \frac{d^m}{dx^m} (S_k^{-k}(x))^m \Big|_{x=0} = f^k(x) \frac{d}{dx} (x f^{-k}(x)).$$

Proof. Let

$$f(z) = 1, \quad z = xS_k^{-k}(z);$$

then

$$\sum_{m=0}^{\infty} \frac{x^m}{m!} \frac{d^m}{dx^m} (S_k^{-k}(x))^m \Big|_{x=0} = \frac{x}{z} \frac{dz}{dx},$$

where

$$z = xS(x) \quad \text{and} \quad S_k^{-k}(xS(x)) = S(x),$$

but

$$S_k(x f^{-k}(x)) = f(x),$$

so that

$$S_k^{-k}(x f^{-k}(x)) = f^{-k}(x).$$

That is, $S(x) = f^{-k}(x)$. Further,

$$x/z = S_k^{-k}(z) = S^{-1}(x) = f^k(x),$$

so that

$$(4.5) \quad \sum_{m=0}^{\infty} \frac{x^m}{m!} \frac{d^m}{dx^m} (S_k^{-k}(x))^m \Big|_{x=0} = f^k(x) \frac{d}{dx} (x f^{-k}(x)).$$

Since $f^{j+1}(x)$ is implicit in our problem, we can express Eq. (4.5) in a better form.

$$[f(x)]^{j+1} = \sum_{i=0}^{\infty} a_{ij} x^i$$

$$f^k(x) = \sum_{i=0}^{\infty} a_{i,k-1} x^i$$

$$f^{-k}(x) = \sum_{i=0}^{\infty} a_{i,-k-1} x^i$$

$$xf^{-k}(x) = \sum_{i=0}^{\infty} a_{i,-k-1} x^{i+1}$$

$$\frac{d}{dx} (xf^{-k}(x)) = \sum_{i=0}^{\infty} (i+1)a_{i,-k-1} x^i = \sum_{i=0}^{\infty} b_{i,-k-1} x^i.$$

Let

$$f^k(x) \frac{d}{dx} (xf^{-k}(x)) = \sum_{m=0}^{\infty} A_m x^m;$$

then

$$(4.6) \quad A_m = \sum_{t=0}^m a_{t,k-1} b_{m-t,-k-1} = \sum_{t=0}^m (m+1-t)a_{t,k-1} a_{m-t,-k-1}, \quad k \neq 0.$$

Comment: For each $S_k^j(x)$, there is one term (when $-j/k = m$, m a positive integer) that is not easily specified by the convolution array for $f(x)$. With Theorem 9, we now know how to get that missing term in terms of the convolution array coefficients for $f(x)$ as given in Eq. (4.6).

5. FURTHER GENERALIZED IDENTITIES

The following is a consequence of Theorem 8 for $-j/k \neq m$, a positive integer.

Theorem 10 (A Generalized Identity)

Let

$$G_j(x) = \sum_{i=0}^{\infty} \frac{j}{ki+j} a_{i,ki+j-1} x^i = S_k^j(x),$$

$$G_s(x) = \sum_{i=0}^{\infty} \frac{s}{ki+s} a_{i,ki+s-1} x^i = S_k^s(x);$$

then

$$G_{s+j}(x) = \sum_{i=0}^{\infty} \frac{s+j}{ki+(s+j)} a_{i,ki+s+j-1} x^i = S_k^{s+j}(x).$$

Thus, by convolution it is true that

$$(5.1) \quad \frac{s+j}{kn+s+j} a_{n,kn+s+j-1} = \sum_{t=0}^n \frac{j}{kt+j} a_{t,kt+j-1} \frac{s}{k(n-t)+s} a_{n-t,k(n-t)+s-1}.$$

Corollary 3 (Abel Convolution Formula)

Let $f(x) = e^x$ and $k = 1$ in Theorem 10; then by exponential convolution,

$$\frac{s+j}{n+s+j} (n+s+j)^n = \sum_{t=0}^n \binom{n}{t} \frac{j}{t+j} (t+j)^t \frac{s}{n-t+s} (n-t+s)^{n-t}.$$

Corollary 2 (Generalized Abel Convolution Formula)

Use Theorem 10 with $f(x) = e^x$ and k a positive integer; then

$$\frac{s+j}{kn+j+s} [(n+1)k+s+j-1]^n = \sum_{t=0}^n \binom{n}{t} \frac{j}{kt+j} [(t+1)k+j-1]^t \frac{s}{k(n-t)+s} [(n-t+1)k+s-1]^{n-t}.$$

See Raney [14], who conjectured this form.

Corollary 3 (Hagen-Rothe Identity)

Let $f(x) = (1+x)^a$, $k = 1$, in Theorem 10; then

$$\frac{s+j}{n+s+j} \binom{a(n+s+j)}{n} = \sum_{t=0}^n \frac{s}{t+s} \binom{a(t+s)}{t} \frac{j}{n-t+j} \binom{a(n-t+j)}{n-t}.$$

Corollary 4 (Generalized Hagen-Rothe Identity)

Let $f(x) = (1+x)^a$ and k be a positive integer in Theorem 10; then

$$\frac{s+j}{kn+s+j} \binom{a[k(n)+s+j]}{n} = \sum_{t=0}^n \frac{j}{kt+j} \binom{a[(k)t+j]}{t} \frac{s}{k(n-t)+s} \binom{a[k(n-t)+s]}{n-t}$$

6. FINAL REMARKS

1. Schur in [8] has done much in this area. Schur [8] and Carlitz [7] give derivations of Lagrange's theorem. H. W. Gould in [13] has summarized much of what has been done earlier. There is still much that can be done for specialized functions $f(z)$.

REFERENCES

1. G. Polya and G. Szego, *Problems and Theorems in Analysis*, Vol. 1, Springer-Verlag, New York, N.Y., 1972. (English Translation and enlargement of *Aufgabe and Lehrsätze aus der Analysis I*, 1925.)
2. E. T. Copson, *Introduction to the Theory of Functions of a Complex Variable*, Oxford University Press, London, 1935, Article 6.22.
3. V. E. Hoggatt, Jr., and Marjorie Bicknell, "Catalan and Related Sequences Arising from Inverses of Pascal's Triangle Matrices," to appear in *The Fibonacci Quarterly*.
4. V. E. Hoggatt, Jr., and Marjorie Bicknell, "Sequences of Matrix Inverses from Pascal, Catalan, and Related Convolution Arrays," to appear in *The Fibonacci Quarterly*.

5. V. E. Hoggatt, Jr., and Marjorie Bicknell, "Pascal, Catalan, and General Sequence Convolution Arrays in a Matrix," to appear in *The Fibonacci Quarterly*.
6. V. E. Hoggatt, Jr., and Marjorie Bicknell, "Numeratory Polynomial Coefficient Arrays for Catalan and Related Sequence Convolution Triangles," to appear in *The Fibonacci Quarterly*.
7. L. Carlitz, "A Note on the Lagrange Expansion Formula," *Buletinul Din Iasi Tomul XVII (XXI) FASC 3-4*, 1971, pp. 39-43.
8. I. Schur, "Identities in the Theory of Power Series," *American Journal of Mathematics*, Vol. 69 (1947), pp. 14-26.
9. G. N. Raney, Private communication, 1973.
10. H. W. Gould, "Some Generalizations of Vandermonde's Convolution," *American Mathematical Monthly*, Vol. 63, No. 2, Feb., 1956.
11. H. W. Gould, "Final Analysis of Vandermonde's Convolution," *American Mathematical Monthly*, Vol. 64, No. 6, June-July, 1957.
12. H. W. Gould and J. Kauchý, "Evaluation of a Class of Binomial Coefficient Summations," *Journal of Combinatorial Theory*, Vol. 1, No. 2, Sept., 1966.
13. H. W. Gould, "Coefficient Identities for Powers of Taylor and Dirchlet Series," *American Mathematical Monthly*, Vol. 81, No. 1, Jan., 1974.
14. G. N. Raney, private communication.

[Continued from Page 356.]

Proof. Since Σ is a non-discrete topology on X there exists $c \in X$ with $\{c\} \notin \Sigma$. Let Δ be the topology on X generated by

$$\Sigma \cup \left\{ \{x\} \mid x \in X \setminus \{c\} \right\}$$

and notice Δ is non-discrete since $\{c\} \notin \Delta$.

Consider

$$S = \bigcap \{ A \in \Delta \mid c \in A \}.$$

Since Δ is finite if $S = \{c\}$ then $\{c\} \in \Delta$. Thus, choose $b \in S \setminus \{c\}$. Let

$$\Gamma = \{ B \subset X \mid b \in B \text{ or } c \notin B \}.$$

Let $T \in \Delta$. If $c \in T$ then $S \subset T$ and so $b \in T$ which implies $T \in \Gamma$. If $c \notin T$ then $T \in \Gamma$ by definition of Γ . Hence

$$\Sigma \subset \Delta \subset \Gamma.$$

Corollary. Every non-discrete topology on a finite set with n elements is contained in a non-discrete topology with $3(2^{n-2})$ elements.

REFERENCE

1. D. Stephen, "Topology in Finite Sets," *American Mathematical Monthly*, 75 (1968), pp. 739-741.
